Thm (Implicit Function Thonou) Let JZ SR^{n+k} be open, F:JR, F= [Fk] be C! Denote $\vec{X} = (X_j, X_n) \in \mathbb{R}^n \times \vec{y} = (y_j, y_k) \in \mathbb{R}^k$. $\vec{F}(\vec{X}, \vec{y}) = \begin{bmatrix} F_1(\vec{X}, \vec{y}) \\ \vdots \\ F_k(\vec{X}, \vec{y}) \end{bmatrix} = \begin{bmatrix} F_1(x_1, y_1, x_0, y_1, y_2, y_k) \\ \vdots \\ F_k(x_1, y_1, x_0, y_1, y_2, y_2, y_k) \end{bmatrix}$ Suppre $(\vec{a}, \vec{b}) \in IZ$, where $\vec{a} \in IR^n$, $\vec{b} \in IR^k$ such that $\vec{F}(\vec{a},\vec{b}) = \vec{c} = \begin{bmatrix} \vec{c}_1 \\ \vdots \\ \vec{c}_r \end{bmatrix} \in \mathbb{R}^k$ and the kxk matrix $\left[\frac{\partial F_{i}}{\partial y_{j}}(\vec{a}, \vec{b})\right] = \left[\frac{\partial F_{i}}{\partial y_{i}}(\vec{a}, \vec{b}) - \frac{\partial F_{i}}{\partial y_{k}}(\vec{a}, \vec{b})\right] \\
= \left[\frac{\partial F_{i}}{\partial y_{i}}(\vec{a}, \vec{b}) - \frac{\partial F_{k}}{\partial y_{k}}(\vec{a}, \vec{b})\right] \\
= \left[\frac{\partial F_{i}}{\partial y_{i}}(\vec{a}, \vec{b}) - \frac{\partial F_{k}}{\partial y_{k}}(\vec{a}, \vec{b})\right]$ is invertible (i.e. $cot \left[\frac{\partial F_i}{\partial y_i} (\vec{a}, \vec{b}) \right] + 0$) Thou there are open sets USIR" containing à,

Then there are open sets $U \subseteq \mathbb{R}^N$ cartaining \hat{a} , and $V \subseteq \mathbb{R}^k$ cartaining \hat{b} such that there exists a unique function $\hat{\varphi}: U \to V$ with $\hat{\varphi}(\hat{a}) = \hat{b}$ and $\hat{\mp}(\hat{x}, \hat{\varphi}(\hat{x})) = \hat{c}$, $\forall \hat{x} \in U$

Moreover, que c' and (by implicit differentiation)

$$\left[\frac{\partial \varphi_{i}}{\partial x_{\ell}}(\vec{x})\right] = -\left[\frac{\partial F_{i}}{\partial y_{j}}(\vec{x}, \vec{\varphi} x)\right]_{k \times k}^{-1} \left[\frac{\partial F_{i}}{\partial x_{\ell}}(\vec{x}, \vec{\varphi}(\vec{x}))\right]_{k \times k}^{-1}$$

$$\begin{cases}
F_{k}(x_{1},...,x_{n},y_{1},...,y_{k}) = C_{11}x_{1}+...+C_{1n}x_{n}+d_{11}y_{1}+...+d_{1k}y_{k} \\
\vdots \\
F_{k}(x_{1},...,x_{n},y_{1},...,y_{k}) = C_{k1}x_{1}+...+C_{kn}x_{n}+d_{k1}y_{1}+...+d_{kk}y_{k}
\end{cases}$$

Then
$$\vec{F}(\vec{x}, \vec{y}) = \vec{c}$$
 can be written

$$\begin{pmatrix} C_{11} \cdots C_{1N} \\ \vdots \\ C_{k1} \cdots C_{kN} \end{pmatrix} \begin{pmatrix} X_{1} \\ \vdots \\ X_{k} \end{pmatrix} + \begin{pmatrix} d_{11} \cdots d_{1k} \\ \vdots \\ d_{k(1} \cdots d_{kk)} \end{pmatrix} \begin{pmatrix} y_{1} \\ \vdots \\ y_{k} \end{pmatrix} = \begin{pmatrix} C_{1} \\ \vdots \\ C_{k} \end{pmatrix}$$

And
$$\left(\frac{\partial F_i}{\partial y_j}\right)_{1 \le i,j \le n} = \left(\frac{\frac{\partial F_i}{\partial y_i} \cdots \frac{\partial F_i}{\partial y_k}}{\frac{\partial F_k}{\partial y_i} \cdots \frac{\partial F_k}{\partial y_k}}\right) = \left(\frac{d_{11} \cdots d_{1k}}{d_{n1} \cdots d_{nk}}\right)$$

If
$$\left(\frac{\partial F_i}{\partial y_i}\right) = \left(d_{ij}\right)$$
 is involvible (i.e. $det(d_{ij}) \neq 0$),

(same $\vec{\varphi}$ for all (\vec{a}, \vec{b}) with $\vec{F}(\vec{a}, \vec{b}) = \vec{c}$, & here $U = \mathbb{R}^n$, $V = \mathbb{R}^k$)

Clearly
$$\left(\frac{\partial \hat{y}}{\partial x_{l}}\right)_{k \times n} = \left(\frac{\partial \hat{y}}{\partial x_{l}}\right)_{k \times n} = -\left(\frac{d_{11} \cdots d_{1k}}{d_{kl}}\right) \left(\frac{c_{11} \cdots c_{in}}{c_{kl}}\right) \left(\frac{\partial \hat{F}_{i}}{\partial x_{l}}\right)_{k \times n}$$

Special case (A): k=1 (1 constraint) $F: \mathcal{A} \subset \mathbb{R}^{n+1} \to \mathbb{R}$ (1 constraint) $F(\vec{x}, \vec{y}) = F(x_1, ..., x_n, y) = C$ Suppre $\tilde{a} = (a_1, ..., a_n) \in \mathbb{R}^n$, bell s.t. $F(q_1, \dots, q_n, b) = C$ \overline{IFT} : If $\frac{\partial F}{\partial y}(a_1,...,a_n,b) \neq 0$, then I U open in IR " s.t. (a, ..., an) & U and Jopen in R S.t. b∈ V and \exists mique $C' : V \rightarrow V s, t$. 9(a1, --; an) = b & $F(x_1,...,x_n,\varphi(x_1,...,x_n)) = C / Y(x_1,...,x_n) \in U$ (i.e. $y=\varphi(x_1,...,x_n)$ solves the constraint $F(x_1,...,x_n,y)=c$)

"near" $(a_1,...,a_n,b)$

Moreover, $\frac{\partial \varphi}{\partial x_i}$ can be calculated using implicit differentiation.

In eg2: $x^2+y^2+z^2=2$ Solve z=-7(x,y)(X1, X2, y)

General notation

(this y's not)

the "y'an the)
often side (x,y,7)R3 notation $F(X_1, X_2, y) = X_1^2 + X_2^2 + y^2 = C \quad (c = 2)$ $g(x,y,z) = x^2 + y^2 + z^2 = 2$ ~=(a1,a2)=(0,1), b=1 near (0,1,1) $\frac{\partial F}{\partial a}(a_1,a_2,b) = 2 \neq 0$ $\frac{34}{94}(011) = 2 \neq 0$ ByIFT By IFT $\exists y = \varphi(x_1, x_2)$ "wear" (α_1, α_2, b) $\exists Z = Z(x,y)$ "near" (0,1) st. $F(x_1, x_2, \varphi(x_1, x_2)) = C$ (c=z) $\varphi(0,1) = 1$ $x_1^2 + x_2^2 + (\varphi(x_1, x_2))^2 = C$ 5.t. g(x,y, z(x,y)) = 2 z(0,1) = 1 $x^{2}+y^{2}+(z(x,y))^{2}=2$ $\frac{\partial \xi}{\partial x}$, $\frac{\partial \xi}{\partial y}$ can be computed $\frac{\partial \varphi}{\partial x_i}$ $\frac{\partial \varphi}{\partial x_j}$ can be computed by implicit differentiation by implicit differentiation

Special case (B)
$$N=1$$
, $k=2$ (2-constraints)
$$\vec{F}: SL \subset \mathbb{R}^{1+2} \longrightarrow \mathbb{R}^{2}$$

$$\vec{F}(x, y_{1}, y_{2}) = \begin{bmatrix} F_{1}(x, y_{1}, y_{2}) \\ F_{2}(x, y_{1}, y_{2}) \end{bmatrix} = \begin{bmatrix} c_{1} \\ c_{2} \end{bmatrix} = \vec{c}$$

Suppose (a, b₁, b₂) satisfies the constraints $\vec{F}(a,b_1,b_2)=\vec{c}$, then IFT means:

Here
$$\exists y_1 = \varphi_1(x) & y_2 = \varphi_2(x)$$
 "wear" (a, b), b2)

solving the constraints (locally)

$$\begin{cases} F_1(x, \varphi_1(x), \varphi_2(x)) = c_1 \\ F_2(x, \varphi_1(x), \varphi_2(x)) = c_2 \end{cases}$$

$$\varphi = \begin{cases} \varphi_1(0) = \beta_1 \\ \varphi_2(0) = \beta_2 \end{cases}$$

$$\frac{QG3}{X} \begin{cases} X^2 + y^2 + Z^2 = 2 \\ X + Z = 1 \end{cases}$$

$$(X, Y, Z) \Leftrightarrow X + Z = 1$$

$$(X, Y, Z) = X^2 + y^2 + Z^2 = 2$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z = 1$$

$$(X, Y, Z) = X + Z$$

By IFT

$$\exists y = y(x), z = z(x) \text{ "your"}$$
 $(0, 1, 1) \text{ s.t.}$
 $\int g(x, y(x), z(x)) = \lambda$
 $f(x, y(x), z(x)) = \lambda$

calculated by implicit differentiation.

$$\begin{cases} X^{2} + y^{2} + z^{2} = 2 \\ X + z = 1 \end{cases} & \text{solve for } y = y(x), z = z(x) ? \\ (x, y, z) & \longleftrightarrow & (x, y_{1}, y_{2}) \\ (x, y, z) & \longleftrightarrow & (x, y_{1}, y_{2}) \end{cases} \\ \begin{cases} (x, y_{1}, z) \\ (x, y_{1}, z) \\ (x, y_{1}, z) \end{cases} & \longleftrightarrow & (x, y_{1}, y_{2}) \end{cases} \\ \begin{cases} (x, y_{1}, y_{2}) \\ (x, y_{1}, y_{2}) \\ (x, y_{1}, y_{2}) \end{cases} & = (x_{1} + x_{2} + x_{3}) \end{cases} \\ \begin{cases} (x, y_{1}, y_{2}) \\ (x, y_{1}, y_{2}) \\ (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x, y_{1}, y_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{1} + x_{2}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \\ (x_{2} + x_{3}) \end{cases} & = (x_{2} + x_{3}) \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \end{cases} \\ \end{cases} \\ \begin{cases} (x_{1} + x_{2}) \\ (x_{2} + x_{3}) \\ (x_{3} + x_{3}) \\ ($$

calculated by implicit differentiation.

(2,1,4) is a solution.

Can we solve 2 of the variables as functions of the remaining variable?

$$\overrightarrow{F}(X,Y,Z) = \begin{bmatrix} F_1(X,Y,Z) \\ F_2(X,Y,Z) \end{bmatrix} = \begin{bmatrix} XZ + A\overline{M}(YZ - X^2) \\ X + 4Y + 3Z \end{bmatrix}$$

$$DF = \begin{bmatrix} \frac{\partial F_1}{\partial X} & \frac{\partial F_1}{\partial Y} & \frac{\partial F_1}{\partial Z} \\ \frac{\partial F_2}{\partial X} & \frac{\partial F_2}{\partial Y} & \frac{\partial F_2}{\partial Z} \end{bmatrix}$$

$$= \begin{bmatrix} z - 2x \cos(yz - x^2) & z \cos(yz - x^2) & x + y \cos(yz - x^2) \\ 1 & 4 & 3 \end{bmatrix}$$

$$\Rightarrow \overrightarrow{DF}(2,1,4) = \begin{bmatrix} 0 & 4 & 3 \\ 1 & 4 & 3 \end{bmatrix}$$

$$dt \begin{pmatrix} 3 & 3 \\ 0 & 4 \\ 1 & 4 \end{pmatrix} \qquad dt \begin{pmatrix} 3 & 3 \\ 1 & 3 \end{pmatrix} \qquad dt \begin{pmatrix} 4 & 3 \\ 4 & 3 \end{pmatrix}$$

IFT \Rightarrow • x,y can be solved as (diff.) functions x=x(z) ϱ y=y(z) of z near (z,1,4)

- X, Z can be solved as (diff.) functions $X = X(y) \ \Omega \ Z = Z(y)$ of Y near (Z, 1, A)
- No conclueion on whether y, z can be solved as (diff.) functions of x near (2,1,4).

Further analysis for this particular example:

implicit diff. \Rightarrow if $y(x) \in E(x)$ exists e diff.

then $\begin{bmatrix} 4 & 3 \end{bmatrix} \begin{bmatrix} \frac{dy}{dx} \\ 4 & 3 \end{bmatrix} = -\begin{bmatrix} 0 \\ 1 \end{bmatrix}$ which is a curtradiction. \Rightarrow y, z cannot be solved as (diff.) functions of x

Thm (Inverse Function Thenem) Let $\vec{f}: \mathcal{I} \to \mathbb{R}^n$ be C', $(\mathcal{I} \subset \mathbb{R}^n, \operatorname{open})$ Supprie Df(à) à <u>invertible</u> (nxn matrix) Then I open sets USIR" containing a, $V \leq \mathbb{R}^n$ containing $\vec{b} = \vec{f}(\vec{a})$ Such that I a unique function q: V -> U with $\vec{q}(\vec{b}) = \vec{a}$ satisfying $\int \widehat{g}(\widehat{f}(\widehat{x})) = \widehat{x}$, $\forall \widehat{x} \in U$ (i.e. $\widehat{g} = (\widehat{f}(\widehat{g}))$) $= \widehat{f}(\widehat{g}(\widehat{g})) = \widehat{f}$, $\forall \widehat{y} \in V$ Moreover, gà is c'and $D\vec{q}(\vec{y}) = \left[D\vec{f}(\vec{q}(\vec{q}))\right]^{-1}, \forall \vec{y} \in V$

Romark: $\vec{g} = (\vec{f}|_{U})^{-1}$ is called a <u>local inverse</u> of \vec{f} at \vec{a} .

eg: \overrightarrow{f} is actually linear: $\begin{pmatrix} y_1 \\ \vdots \\ y_n \end{pmatrix} = \begin{pmatrix} c_{11} & \cdots & c_{1n} \\ \vdots & \vdots \\ \vdots & \ddots & \vdots \\ \vdots & \ddots & \vdots \end{pmatrix} + \begin{pmatrix} c_1 \\ \vdots \\ c_n \end{pmatrix}$

Clearly] is invertible
$$\Leftrightarrow$$
 $(\frac{c_1,...c_n}{c_n,...c_n})$ invertible

$$\vec{g}(\vec{y}) = \begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix} = \begin{pmatrix} c_{11} & \cdots & c_{1n} \\ \vdots & & \vdots \\ c_{n1} & \cdots & c_{nn} \end{pmatrix} \begin{bmatrix} \begin{pmatrix} y_1 \\ \vdots \\ y_n \end{pmatrix} - \begin{pmatrix} c_1 \\ \vdots \\ c_n \end{pmatrix} \end{bmatrix} = \vec{S}^{-1}$$

But
$$\begin{pmatrix} C_{11} & C_{1n} \\ \vdots & \vdots \\ C_{n1} & C_{nn} \end{pmatrix} = D = \begin{pmatrix} \frac{\partial f_1}{\partial x_1} & \frac{\partial f_2}{\partial x_n} \\ \frac{\partial f_2}{\partial x_1} & \frac{\partial f_2}{\partial x_n} \end{pmatrix}$$
 if the condition regulated by

(Same as the linear example of Implicit Function Thm, $U=IR^n=V$)

$$D = \begin{pmatrix} \frac{\partial g_1}{\partial y_1} & \dots & \frac{\partial g_1}{\partial y_N} \\ \frac{\partial g_N}{\partial y_1} & \dots & \frac{\partial g_N}{\partial y_N} \end{pmatrix} = \begin{pmatrix} \frac{\partial x_1}{\partial y_1} & \dots & \frac{\partial x_N}{\partial y_N} \\ \frac{\partial x_N}{\partial y_1} & \dots & \frac{\partial x_N}{\partial y_N} \end{pmatrix}$$

$$= \begin{pmatrix} C_{11} & \dots & C_{NN} \\ \vdots & \vdots & \vdots \\ \frac{\partial x_N}{\partial y_1} & \dots & \frac{\partial x_N}{\partial y_N} \end{pmatrix}$$